2 Productos de polinomios
(rF4+s4+t)r2+s7+t77) (14)
Obtenga productos y simplifique

(22 +5)(3z = 7) (D) (3abe + dbac + 2cab) (22ab + 3azb + 5baz)  (15)
(52 + Ty)(32 + 2y) @ [(—2)°klm + (3)*zyz + 8mik + 100zyz] x 16)

(2u + 3)(u — 4) + du(u — 2) 3) [(100)*imk + yza — 10000klm]
(3u—1)(u+2) + Tu(u + 1) (4) (Ve + vy (Vz - y)° (17)
(3z +5)(22% + 92 — 5) (5) (222 + 5y?)? (18)
(t2 + 2t —5)(3t2 —t + 2) (6) (x4 y)(x—y)? (19)
(r* = 8r = 2)(=r* +3r - 1) (7) (cf —o?) (oF + @)t +0?) ()
(z +1)(22% — 2)(2® +5) (8) (x% +y%) <x§ (o) +y%> (21)
3z — 49/y)(2z + 9/7) (9) 50— 4y )

(42 — 3y)(z — 5y) (10)

(& —2y)(z +2y) —2%)° +63y°  (23)

(32® + 42 — 7x) (923 — 42% — 62) (11)
(x2 + y2) (xz +yz)(xzz — yz) (24)

(7% +2r® — 117)(—=3r® — 2r® + 5r) (12)

(2® + x)2 —z7 (2 + 2%+ 22* + 2°) (25)
(23 + 1) (2 = 5)(2® - 1) (13)



